            Mitosis and Meiosis
              Multiple Choice-Darken the correct letter on your scantron.
____
1.
Chromatids are

	a.
	dense patches within the nucleus.

	b.
	bacterial chromosomes.

	c.
	joined strands of duplicated genetic material.

	d.
	prokaryotic nuclei.
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____
2.
Refer to the illustration above. The cell shown in diagram “5” is in

	a.
	metaphase.
	c.
	anaphase.

	b.
	telophase.
	d.
	prophase.


____
3.
Refer to the illustration above. The cell in diagram “1” is in

	a.
	metaphase.
	c.
	anaphase.

	b.
	telophase.
	d.
	prophase.


____
4.
Spindle fibers appear in 

	a.
	mitosis only
	c.
	both 

	b.
	meiosis only
	d.
	neither


____
5.
When would mitosis occur?

	a.
	to grow
	c.
	to make a baby

	b.
	to replace dying cells
	d.
	both a & b


____
6.
How many chromosomes are in the body cells of an organism that has a haploid number of 8?

	a.
	4
	c.
	12

	b.
	8
	d.
	16
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____
7.
Refer to the illustration above. Which of the following correctly indicates the order in which these events occur?

	a.
	“A,” “B,” “C,” “D”
	c.
	“B,” “A,” “C,” “D”

	b.
	“C,” “B,” “A,” “D”
	d.
	“A,” “C,” “B,” “D”


____
8.
Refer to the illustration above. During which stage do the chromatids separate?

	a.
	“A”
	c.
	“C”

	b.
	“B”
	d.
	“D”


____
9.
Homologous chromosomes pair together in

	a.
	mitosis only
	c.
	both

	b.
	meiosis only
	d.
	neither


____
10.
Ten new cells are formed in 

	a.
	mitosis only
	c.
	both

	b.
	meiosis only
	d.
	neither


____
11.
Chromosomes that are similar in size, shape and genetic content are called

	a.
	twins
	c.
	autosomes

	b.
	females
	d.
	homologous chromosomes


____


           12.
diploid : somatic cell :: haploid :

	a.
	body cell.
	c.
	gamete.

	b.
	zygote.
	d.
	autosomes


____
13.
Mitosis is a process by which

	a.
	DNA is replicated.
	c.
	cells grow in size.

	b.
	cytokinesis occurs.
	d.
	a cell’s nucleus divides.


____
14.
A typical human cell contains 46 chromosomes. After mitosis and cell division, each of the two new cells formed from the original cell

	a.
	gets 23 chromosomes.

	b.
	grows new chromosomes from existing DNA.

	c.
	gets a complete set of 46 chromosomes.

	d.
	None of the above


____
15.
The difference between anaphase of mitosis and anaphase I of meiosis is that

	a.
	the chromosomes line up at the equator in anaphase I.

	b.
	centromeres do not exist in anaphase I.

	c.
	chromatids do not separate at the centromere in anaphase I.

	d.
	crossing-over occurs only in anaphase of mitosis.


____
16.
The diploid number of chromosomes in a human skin cell is 46. The number of chromosomes found in a human egg is

	a.
	46.
	c.
	23.

	b.
	92.
	d.
	12.5.


____
17.
A diploid cell is one that

	a.
	has two homologues of each chromosome.

	b.
	is designated by the symbol 2n.

	c.
	has chromosomes found in pairs.

	d.
	All of the above


____
18.
The piece that attaches two chromatids to each other in a chromosome is called a(n)

	a.
	chloroplast.
	c.
	gamete.

	b.
	centromere.
	d.
	centriole.


____
19.
Nucleus and nuclear membrane fade in

	a.
	mitosis only

	c.
	both 

	b.
	meiosis only
	d.
	neither


____
20.
Abnormalities in chromosome numbers can be determined by viewing ...

	a.
	blood
	c.
	karyotype

	b.
	human genome project
	d.
	you can't determine abnormalities


____
21.
The phase of mitosis that is characterized by the arrangement of all chromosomes along the equator of the cell is called

	a.
	telophase.
	c.
	anaphase.

	b.
	metaphase.
	d.
	prophase.


____
22.
The gamete with the most cytoplasm is the

	a.
	sperm
	c.
	chromatid

	b.
	egg
	d.
	chromatin


____
23.
As a result of mitosis, each of the two new cells produced from the original cell during cytokinesis

	a.
	receives a few chromosomes from the original cell.

	b.
	receives an exact copy of all the chromosomes present in the original cell.

	c.
	donates a chromosome to the original cell.

	d.
	receives exactly half the chromosomes from the original cell.


____
24.
The first new cell resulting from fertilization is called 

	a.
	zygote
	c.
	haploid

	b.
	diploid
	d.
	chromosomes


____
25.
Lung cells form new cells in 

	a.
	mitosis only
	c.
	both

	b.
	meiosis only
	d.
	neither


           26.
Open Response  (50 points)

Compare mitosis to meiosis.  Explain 5 similarities/differences between the two processes using correct terminology.  Bullet your answers using complete sentences.  .

Mitosis and Meiosis

Answer Section
MULTIPLE CHOICE

1.
C

2.
B

3.
C

4.
C

5.
D

6.
D

7.
C

8.
A

9.
A

10.
D

11.
D

12.
C

13.
D

14.
C

15.
C

16.
C

17.
D

18.
B

19.
C

20.
C
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B
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B
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B

24.
A

25.
A
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